[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.003
0.002

eHICIgNCYYS ¥

Ratio

"
*

..............................................

..............................................

..............................................

..............................................

T T[T T[T T [T [T [ TT T[T T[T [T ToT

0.001 TR RRERTERERRY
G 1 Illi L1 111118
0.95[ - === o= foe e sh s
0.9k . : - H .
10~ 10° 1 10 0
TP vertr (cr%)

0.95

DQMstep3_QCD_default CHECK

0.9

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0
>
50.009
5008
%.007
>
3.006
(3]
£.005
()
0.004
0.003
0.002
0.001}

Ratio

I
o

-5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


